Introduction to Thermodynamics and Heat Transfer (ECE 309)
Suggested Problems for Chapter 3

LA d4m=5mx7mroom is heated by the radiator of a steam-heating system as shown
in Fig. 1. The seam radiator transfers heat at a rate of 10,000 kT /h, and a 100 W fan is
uscd to distribute the warm air in the room. The rate of heat loss from the room is
estimated to be about 3000 kI /h. If the initial temperature of the room air is 10 °C,

determine how long it will take for the air temperature to rise to 20°C. Assume constant
specific heats at room temperature.
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2. A piston-cylinder device contains (0.8 kg of nitrogen initially at 100 kPa and 27 “C.
The nitrogen is now compressed slowly in a polytropic process during which PV

=
until the volume is reduced by one-half. Determine the work done and the heat transfer
for this process.
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3. A rigid tank containing 0.4 m’ of air at 400 kPa and 30 °C is connected by a valve to a
piston-cylinder device with zero clearance (Fig. 2). The mass of the piston is such that a
pressure of 200 kPa 1s required to raise the piston. The valve is now opened slightly, and
air is allowed to flow into the cylinder until the pressure in the tank drops to 200 kPa.
During this process, heat is exchanged with the surroundings such that the entire air
remains at 30 °C at all times. Determine the heat transfer for this process.
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4. Tt is well known that wind makes cold air feel much colder as a result of the wind-chill
effect, which is due to the increase in the convection heat transfer coefficient as a result
of the increase in air velocity. The wind-chill effect is usually expressed in terms of the
wind-chill factor, which is the difference between the actual air temperature and the
equivalent calm-air temperature. For example, a wind-chill factor of 20 °C for an actual
air temperature of 3 °C means that the windy air at 5 °C feels as cold as the still air at -15
“C. In other words, a person will lose as much heat to air at 5 °C with a wind-chill factor
of 20 “C as he or she would in calm air at —15 °C.

For heat transfer purposes, a standing paked man can be modeled as a 30-cm-diameter,
| 70-cm-long vertical cylinder with both the top and bottom surfaces insulated and with
the side surface at an averuge temperature of 34 °C. For a convection heat transfer
coefficient of 15 W/im>.°C), determine the rate of heat loss from this man by convection
in still air at 20 °C, What would your answer be if the convection heat transfer coefficient
was increased to 50 W.F{mj.“C'ﬁ as a result of winds? What is the wind-chill factor in this

case?
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5. An insulated piston-cylinder device initially contains 0.01 m* of saturated liquid-vapor
mixture with a quality of 0.2 at 100 "C. Now some ice at 0 °C is added into the cylinder.
If the cylinder contains saturated liquid at 100 °C when thermal equilibrium is
established, determine the amount of ice added. The melting temperature and the heat of

fusion of ice at atmespheric pressure are 0 °C and 333.7 kI (kg.°C), respectively.
2
Vi= o0l m g v’
wi=0-% Az,
e 7 4 o
T=100 2 ; 01 m3 é at;h
7 H00°C. .
Hreasmme—
1 —
LA
.
1V = 001044 (Wieq)
Vg = 6729 {Hykﬂ\)
—?,1}: 418 04 LP—M@
g 2671 Lespy
b

V4
LoolOHY + 2 (1. 6726 -
a2 26F6 -

=-ﬂ5’-‘f~‘=%

00| OUH)
yro.0v) = 70T Kd gy

Q;: - Ji-,‘-;:*ni”lij S AT
B s He = 1909

Voo el o opaae el
oy =

i

™ » 3354

E:b'% = ( 8FT = -’-Hc}.gqr} R L [ ffrJr'frﬁ«

A = @;x._?[;_;.a?wﬁf}?f ~d -

el
AR = Mluc’.’?b ('57_,2”_ o fﬂ,& ;l_,i'-azz
¢ £

m,, [ vistrioords? #/

ffﬂful‘ﬂf?a iy oA fﬁafl

s =




Che S
?(ob“m 6

ASSum?th\S
5 _ﬁ‘ﬂﬂa.f ?’b?c('“m o-" ‘I’k loc“s Are Sonstat
ba\“s Ove =l o uﬂ.\'{:blr‘\ JQ-“*) BCFQ{" ornd n.g"tp/

‘\thv\ c\q:\-:_j

— AXE = &FF <0

—_

La\\s ii2¢:fc

Aap= 2700 (¥/.3)

60\%’\"{0“
We er\kg (- S.\:B\{, LQ(\ ary _d‘-c ._(ij’e.m : Tl‘- {”C:j'} Balm@c %f

7({1(..5 C{o_‘eJ _{3_;’1"«:./% fi{/

= b
E;” o e = Css_s""f_m
... ) =
net C..nc':')} transter C'L“:‘:jm i wteend k“"“‘-h.c)

t.)J ht’i’f Mk, 4!\:] Mmayss Po"h:n“ha_f ’4*(-.

__Qo,"*' = AU‘O.“ Fras m (Mz_u‘)
Qo\;\' = ™MC (1: .-T-,_)
ﬁ‘-«. ’h)-hba 4Munn{' o.c' htn.{' "b’anf;cf ﬁ'w = .‘34 ,” ,_;— ¥

- S < (e.05
CEPLEE § .1 R R (o5, 6.3 ¢H

Qo = Me (T =Ta) = 01763 KRy) 0:‘7576@6‘,')@20-41‘

= 380 (KJA.02)



o}- Ae:t 'ffau._rft/ %Qn d«-bqlfg 45 He wator

—TL&A -ﬂkc mle
be‘:“’/"lCA SR
= a = /Qo ’Oﬂ.“ ~ . (o] CJ
Q totd = "?')bﬂ“ [‘)’aa“ 24 4‘”_ {94”

= 78 Y,
ﬁa.c‘(lbfe , heet pact be vemoded ﬁl’om Hee witer o A ke of

185 hJ/ [~ oder To }?Cef’ ils 1""‘{ Gustant ot Sec.
Min

Sfﬂcc. .eme\rjj I./‘fu."' rw gt be f.rup{% dﬂc& O"\+€b:k :ﬂ’f

A -5516’"‘- 6-’1‘0:.&-5 'e—“"‘:j\j I*C*‘e.( /-C-Md;‘v\f éldf.ﬁh-t—-

E‘;\_-' qu‘f' (dl\m bE{}._ST'EM =9

Wanet o Weycle

Weide= Wip 4 Waongy+ Wy,
2 P 4P é
Wiy = - j Pd\f: — ( ‘-:__1) (M- = C
i

33 ?d\;.. Sthce C\V.s;-;

P‘.‘\'?‘L )(V.'u\/?_)
-

Wi = (B (4% - F (1)
N(;‘f\{ M ':s La\u._gﬁ 1o ‘H:-c C{o”_)\a'{'(_l\.eol AVC ;“ _ﬂL r'_\/

Ai‘*j\fdm Mo, in Such @ °‘\"\‘.C process,

AU - BT=BP= B (aw pagerty =0



